






Thick donut = Hypopnea  Break thru breaths = 
Obstructive process 



Thick donut = Hyponea. Break 
thru breaths = Obstuction 

Mixing Insp. & Expir. = 
increased effort = 
Obstuctive process 

Inspir. = Red 

Expir. = Green 



Breakthrough Breath indicating Obstructive process 

Baseline Breath 

Breakthrough Breath indicating Obstructive process 

Baseline Breath 





All Decreased Loops are 
within the baseline loop = 
Central Process. Donut = 
Hypopnea. 

No mixing of inspiratory/
expiratory breaths = 
Central Process 



CSH with correlating Flow Loop with 
a 44% reduction of flow from 
Baseline Loop 

44 % decrease in flow  



CSH with a 65 % reduction of flow 
from Baseline Loop Baseline Loop 









Breakthrough breaths from 
baseline breath = 
Obstruction. Ball = Apnea  

Konno-Mead Loop has 
significant mixing of 
inspiratory and expiratory 
Loops 





Baseline Breath Breakthrough breath = 
Obstruction 

Ball = Apnea 

Mixing Inspir. & Expir. = 
Obstructive Process 

Red = Inspiratory 

Green = Expiratory 





Baseline Loop 

Central Apnea Baseline Loop 

No Breakthrough 
Breath 

No effort = Central 
process  



Baseline FVL 

Baseline KML 
Baseline Breath 

Central Apnea 

UARS indicated by flattened portion 
of inspiratory loop 

No breakthrough breath 

Baseline Breath 

No effort in Konno-Mead. Loop is very small 



Baseline Loop Baseline Loop 

Central Apnea 

No Breakthrough breath.  
Breath occurring stays well 
within the baseline breath 




